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General Instructions :

Read the following instructions very carefully and strictly follow them :

(V)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

3151 e 3 - PTO.

This question paper comprises three Sections — A, B and C. There are

30 questions in the question paper. All questions are compulsory.

Section A — Questions no. 1 to 14 — all questions or part thereof are of
one mark each. These questions comprise Multiple Choice Questions
(MCQ), Very Short Answer (VSA) and Assertion—-Reason type questions.
Answer to these questions should be given in one word or one sentence.

Section B - Questions no. 15 to 24 are short answer type questions,
carrying 8 marks each. Answer to these questions should not exceed 50 to
60 words.

Section C - Questions no. 25 to 30 are long answer type questions,
carrying 5 marks each. Answer to these questions should not exceed 80 to
90 words.

Answers should be brief and to the point. Also the above mentioned word

limit be adhered to as far as possible.

There is no overall choice in the question paper. However, an internal

choice has been provided in some questions in each Section. Only one of

the choices in such questions have to be attempted.

In addition to this, separate instructions are given with each section and

question, wherever necessary.
SECTION A

Covalent compounds are generally poor conductors of electricity. Why ?

State the common characteristic of the following elements :

Boron, Silicon, Germanium and Arsenic

OR
State the Periodic Law on which the Modern Periodic Table is based.

[
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3. fTmafifgd s1eae o wefua el moff Teheumreti St = & IR W I
T 3(a) ¥ 3(d) % IW AT :

9RA # §R wfe U i foenfaa g gon sam R | 31 T8, 2019 T <

R yfqeetiud &Har 30-071 GW d 9gd T8 oft | R § ufqseriud €@ Wil
Tl &t gfd MW dSit Td &8 H B | el 2019 ° OR foRq S 3

o

ST B ATell Tod, S 1 T 3-4% ki€ i 18 | ffaiRaa arferent o
Tsa : aul § aTfteh G Ak S i S0 =1 2 |

ay YR 916 S (TWh)
2013 - 14 3-35
2014 - 15 4-60
2015 — 16 7-45
2016 — 17 12-09
2017 - 18 25-87
2018 - 19 39-27

TR <91 WFIeTelt & foh o o stfirestsr wrm § € St 9Ied 8idl Wt & | uEn
31 ® Toh WA 5000 fEfee™ kWh & Joa a1t & 21fee ol Th av § g3 4
Ted LT 7 |

3(a) HR U FATE ?

3(b) 9 H W AW W el yedt @1 I @ fhat dieear famfaa ik fohat
Torerq Scaat <l 1 wehelt B 2

3(c) YN H GR A1 ¢RI Stk 9 1 WiosT Issadd & | 38R SR ST |
3(d) ER IS * Al Bl Felag HIT |
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3. Answer question numbers 3(a) — 3(d) on the basis of your understanding

of the following paragraph and the related studied concepts :

Solar power in India is a fast developing industry. The country’s solar
installed capacity reached 30:071 GW as of 31 July, 2019. India has the
lowest capital cost per MW to install solar power plants. Solar electricity
generation recorded nearly 3-4% of total utility electricity generation in
January 2019. The following table shows Annual Solar Power Generation

of the last six years.

Year Solar Power Generation (TWh)
2013 -14 3-35
2014 - 15 4-60
2015 -16 7-45
2016 — 17 12-09
2017 - 18 25-87
2018 - 19 39-27

Our country is lucky to receive solar energy for the greater part of the
year. It is estimated that during a year India receives the energy
equivalent to more than 5000 trillion kWh from the Sun.

3(a) What are solar cells ? 1

3(b) How much voltage can be developed and how much electricity can

be produced by one typical solar cell when exposed to the Sun ? 1

3(c) The future of power generation by solar energy is bright in India.

Give reason. 1

3(d) List two advantages of solar cells. 1

31/5/1 8 5 | PTO
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4. T GEA 4(a) ¥ 4(d) F= § T qilersnt IR TRE § @ TS GElUd IS W
ST 2 |
T3S 3Lk B (TSH) ARNTFIT Iqe i o AU orstise Ui <l 3eed
HAT 3 | = € T8 dTfetehT 1 3Tq¥F hIfvT |
FTfeTe®T : TYlaEdT &1 et # TSH & &

TITaeT T = 3<d
T (mU/L) (mU/L) (mU/L)
o fammet 0-2-25 <02 2:5-10
fgcftar fommsh 0-3-3-0 <03 3-01 - 45
LRIRRREIE] 0-8 - 5-2 <08 > 53

TfEET § TSH % T %l -1 T Fg@qul gl & | TSH 1 3=d &R 3R
SIEUIYTSUSIesH MY & I i fo9iy ®9 9 guifad s Gehdl 3 | 37d:
oTgiiss Uty i agfa fskam & frema/feao & fore sfret & wmst g 3k
gargai (Teferean) n STevass Bia1 2 |

4(a) TSH 1 qU AW fafEy |

4(b) TSH % Yg@ H I Ieoi@ HIT |

4(c) THad) AlEETST % TSH &R ! Hi-1e i shl STEaIehdl i & ?

foreht et wfgem w1 TSH TR 895 mU/L 8 | 38 fhE TR
TE-ITA ) AR 8 ?

4(d)

5. 59 g 4 A9 4 foell fare bt gt W gig wed €, qr st oa 1wl

gl
(A) o g |
(B) eI E |

(C) © s IRadA &1 gral |
(D) IS & GBS T R Ll 7 |
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4, Question numbers 4(a)—4(d) are based on the table and related
information in the passage given below.
Thyroid Stimulating Hormone (TSH) stimulates thyroid gland to produce
thyroxine. Study the table given below.
Table : TSH levels during pregnancy
St ¢ Normal Low High
age of pregnanc
BEOTPISERAS | (mUu/L) (mU/L) (mU/L)
First trimester 0:2-25 <02 2:5-10
Second trimester 0-3-30 <03 3:01-4-5
Third trimester 0:8-52 <0-8 > 53
It is important to monitor TSH levels during pregnancy. High TSH levels
and hypothyroidism can especially affect chances of miscarriage.
Therefore, proper medication in consultation with a doctor is required to
regulate/control the proper functioning of the thyroid gland.
4(a) Give the full form of TSH.
4(b) State the main function of TSH.
4(c) Why do TSH levels in pregnant women need to be monitored ?
4(d) A pregnant woman has TSH level of 8:95 mU/L. What care is
needed for her ?
5. The image distance from the eye lens in the normal eye when we increase
the distance of an object from the eye
(A) increases.
(B)  decreases.
(C) remains unchanged.
(D)  depends on the size of the eyeball.
31/5/1  EgE 7
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6. mA 3T MA%B U ST 8
(A) 10°6A3R109A
(B) 103A3R106A
(C) 103A1092A
(D) 10°6A3R 103 A

7. TS YT THEAE AIIEI-HIC FABA ‘A’ h TohE! IR dTeieh ol Uiy
R’ | 3 yered & fordlt 3= =arctsh foroehl evatg 245 7 qem Ufale 0-5 R 2, o

I -HTE SABA BT
(A) 5A
B) 25A
(C) 05A
1
(D) - A

8. forHl 42 ulEeHT Al Y Hld TUY GWd: k! S aren Aefefed
ATARART W fomm Fhifve -

L. forT gaTasn feu fopamt ot e smifeanfemt = fazemT |
II. o forelt AW o SIHQT o wgd 3ifesh o i &l I |
1.  SAeH IR Safafayar i & |

forroent o1 &fen & SR T 814 aTelt =N 8
(A) I3RII
(B) I3 III
(C) I3 III

(D) I, II3fR 11
AT

IATEIH dodl I Y@ o T 317% wEr qon fEe aredl eifea i 7aowd
HUAT 9 TR o ‘R’H O ford T8t qitemiyg star g 2

(A) YA =

(B)  : 3T
(C) TH: TN
(D)  H 3TN
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6. The values of mA and YA are 1
(A) 1076 A and 1079 A respectively
(B) 1073 A and 10-% A respectively
(C) 103 A and 1079 A respectively
(D) 1076 A and 103 A respectively

7. A cylindrical conductor of length /” and uniform area of cross-section ‘A’
has resistance ‘R’. Another conductor of length 2-5 [ and resistance 0-5 R
of the same material has area of cross-section 1
(A) 5A
B) 25A
(C) O05A
1
(Db =A
5
8. Consider the following criticisms that are generally addressed when a
new project is launched :
I. Displacement of peasants and local tribals without compensation.
I1. Swallowing up large amount of public money without any benefits.
III.  Deforestation and loss of biodiversity.
The criticisms about large dams in particular are 1
(A) TandII

(B) II and III
(C) I and III
(D) I, IT and III

OR
Switching off unnecessary lights and fans and repairing leaking taps
correctly defines which term of 5R’s ? 1
(A)  Recycle
(B) Reuse
(C)  Repurpose
(D)  Reduce

3151 e 9 - PTO.
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10.

11.

12.

TTgaTd <1 I Ta fordeh foT ufirg 2 2

(A) TH & TR % g&i - g (g), @A (k) I Iohfereed I
(HTehe=R)

(B) fuueht argieH

(©) faega Safafaga

(D) oI o ¢ YEYH B TAH AT hl qrfigrt

HH Hehe i IS a9 HH W Hls qU 3 R 3 TH oAt 8 | 38
3TfTshaT w1 ford SR | afiehd foRam ST Hehell 8 2

A)  Toedmea 3R ST

(B) oIS iR e

(C)  forama TR eIt

(D) oI it S-SRl (Femad)

Ife g9 Higal % 10 mL HySO, 1 10 mL Mg(OH), % @19 i S, di
Rt e AR Yo i HEiaRad § 8 HH-A1 37 4 2

(A) oA

(B)  dtem

(C) =0

(D) e

AT ShHTh 12 1 hIS ded X TCHTY] shTeh 17 % fohell 3170 ded Y o @1 &h1g
ATk SHTAT B | 39 YR & AN 1 FF 7

(A) XY
B) XY,
©) XY
D) X,Y,

T
HE T X AT ATFIES SAIAT & | $Heh! MYk Tad TRof H Haifeh
gufea feufa 3

(A) 79 13K 31ed 3

(B) 9 16 3R A1&d 3

(C) 74 17 3R 1&ad 3

(D) 79 23R 31Ed 3
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9. The Reni village of Garhwal is famous for 1
(A)  Monocultures of pine, teak and eucalyptus.
(B)  Chipko Movement.
(C)  Extensive biodiversity.

(D) Participation of local people in efficient management of forests.

10. Strong heating of ferrous sulphate leads to the formation of a brown solid
and two gases. This reaction can be categorised as 1

(A) displacement and redox.

(B) decomposition and redox.

(C) displacement and endothermic.
(D) decomposition and exothermic.

11. If 10 mL of HySO,4 is mixed with 10 mL of Mg(OH)y of the same

concentration, the resultant solution will give the following colour with

universal indicator : 1
(A) Red
(B)  Yellow
(C)  Green
(D) Blue
12. An element X with atomic number 12 forms a compound with element Y
with atomic number 17. The formula of the compound formed is 1
A) XY
(B) XYy
) X9Y
D) XyY3
OR

An element X is forming acidic oxide. Its most probable position in the
modern periodic table is 1

(A)  Group 1 and Period 3
(B)  Group 16 and Period 3
(C)  Group 17 and Period 3
(D)  Group 2 and Period 3
31/5/1 =9 11 - PTO.
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9T GCAT 13 SR 14 & 1e70, 31 &7 137 10 § (577 vk &7 Sif9amaT (A) aor g
&1 FNUT (R) ZRT 3ifebd faar 797 § | 37 W91 & @gl 3w 19 37 70 Fis7 (i),
(i), (iii) 3 (iv) T @ GTH FHIT |
1) (A) 3R (R) S T& & 991 (R), HAH (A) H H&t samean i ¢ |
(i) (A) 3 (R) ST TEl §, W (R), A1k (A) T TE A g7 e 2 |
(i) (A @E 7, g (R) Td 2 |
(iv) (A)Tdd 7, 7 (R) 9= 2 |
13.  37WHYT (A) : HIH i AT AN FAFLA GIhL AT FHFLI TZUT hich Ihse T
fommma et e it e s Bt R
FRU(R):  HIs o TIdH BN H IR Sa 21d & 3 g0l e 19d
3T Tl oh SFGHT § HTHGRT i hl Ygid 2l 7 | 1
14. 37T (A): 3= AU W GG b IR § ALILH I ATYh FUTEHT el 7 |
FRU(R):  Tordl qard o1 Ufciy 3R gfcqiershar SF1 & a9 o @ faemon
H 7 | 1
LCLCRC

15. I IHHGR 91 ‘M’ Fo T ThrEg B dcll d%he sl d SaAdl 7 3R
g T8e ‘N’ H 9gd It @ |
(@) ‘M’ 3R N’ &l 9= hIfST |
(b)  3IuYh ATk I Fferd THRIHS THiRr & &9 # FEfua i |
(c) 39 AMTHAT | M’ 1 U= AT 8 AT AT ? 310 I hl 4P
HIT | 3
16. <A o fogq-sTaeed §
(a) TS 3R heie Tk g el 74l & 4 foafay |
(b) T SoIagIS T qh & ATclt 119 I AT 8L Soiagls W qeh g areit
T4 % 3T 1 AT F1 8l & ?
(¢) 3Ife & & 99 HySO, 7 firemd ot < grm 2 3
arera
forell TRt Aifiee X7 W1 IUFM |EH AR Hig AWM H BT 7 | W
AIU-STA (SITST) & SR AT R |
(a) Xl TR T8, G A9 7 Tate g7 fafew |
(b) 35 4 g arett rfufshan 1 aie fafaw |
(c) oI BT ® 9 I8 UH S | Afufskan wiar 3 ™ Ca a1 Mg & @@ gt
A 8 ? 3
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For question numbers 13 and 14, two statements are given —one labelled
Assertion (A) and the other labelled Reason (R). Select the correct
answer to these questions from the codes (i), (ii), (iii) and (iv) as given
below.

13.

14.

15.

16.

) Both (A) and (R) are true and (R) is correct explanation of the
assertion (A).

(i1)  Both (A) and (R) are true, but (R) is not the correct explanation of
the assertion (A).

(i11)  (A) is true, but (R) is false.

@iv)  (A) is false, but (R) is true.

Assertion (A) : Carbon has a strong tendency to either lose or gain
electrons to attain noble gas configuration.

Reason (R) : Carbon has four electrons in its outermost shell and has
the tendency to share electrons with carbon or other
elements. 1

Assertion (A) : At high temperatures, metal wires have a greater chance
of short circuiting.

Reason (R): Both resistance and resistivity of a material vary with
temperature. 1

SECTION B

A shining metal ‘M’, on burning gives a dazzling white flame and changes

to a white powder ‘N’.

(a)  Identify ‘M’ and ‘N’.

(b)  Represent the above reaction in the form of a balanced chemical
equation.

(c) Does ‘M’ undergo oxidation or reduction in this reaction ? Justify. 3

In the electrolysis of water
(a) Name the gases liberated at anode and cathode.

(b)  Why is it that the volume of gas collected on one electrode is two
times that on the other electrode ?

(¢)  What would happen if dil. HySO, is not added to water ? 3
OR

A chemical compound X’ is used in the soap and glass industry. It is

prepared from brine.

(a)  Write the chemical name, common name and chemical formula of X’.

(b)  Write the equation involved in its preparation.

(¢)  What happens when it is treated with water containing Ca or Mg
salts ? 3

3151 e 13 - PTO.
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17. i Li, K, Mg, C, Al, S § ¥ Yg=T :
(a) ©HH HHE (Y9) o
(b) @ SAFIH @H 1 Ffed =Tl el
(c) T8 T I I AT TU i b [TT FIFHI hi HISIGRT Tl TR

T B
(d) TIg A uifcas T

(e) o8 dd Sl AT ATFH3S ST &
() THB 13h1 a
18. 3TER <T@ H Uil T & 1 ded g ? IR Wl &R hl Tl AER @
SATSY | SRR @A H Ho1l JaTg Fed Thireh aial g | i 2
Jrra

IS TR 3Heh Hoeehl T IMYTRA fHHfIRad YaTg 3@ i I il |
Gv) _?
gAY 8
A
Sa
(i) __?
G _?
qATEE &
V) ? (iii) __?

19. (a) Y39 JfhaT H HiUhT o HE HI 3@ hHIT |
(b)  Telt Sfidl i sden siefta Shal 1 v &t sga At (gd) B 2 |

FHHT BT T |
(c) ORIV o [oR@USH ohl SIMH aTcl FHHITARad 99 sl g0 SHIfT -
FIRHT @7 B =i 3ufeufa
LI I L) — 1 +H,0+ 3
(63 a1) (3 mrgerRItgA #
S
+olh)
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17. From the elements Li, K, Mg, C, Al, S identify the

(a)
(b)
(c)
(d)
(e)
®

elements belonging to the same group.

element which has the tendency to lose two electrons.

element which prefers sharing of electrons to complete its octet.
most metallic element.

element that forms acidic oxide.

element that belongs to group 13. 3

18. What is meant by trophic level in a food chain ? Construct a terrestrial
food chain with four trophic levels. The energy flow in a food chain is

always unidirectional. Why ? 3
OR
Complete the following flow chart based on ecosystem and its components. 3
(iv) _?
Comprises
TERRESTRIAL
BIOTIC
Types Components
ECOSYSTEM
(i) _?
1 _?
Definition Comprises
) ? (i) _?
19. (a) In the process of respiration, state the function of alveoli.
(b)  Rate of breathing in aquatic organisms is much faster than that in
terrestrial organisms. Give reasons.
(c) Complete the following pathway showing the breakdown of glucose : 3
i 1 9 Presence of O 9
Glucose - YioPasM ) — 2 (i) —— +H,0
(6-carbon (3-carbon in mitochondria + energy
molecules) molecules
+ energy)
31/5/1 =9 15 PTO.
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20.

21.

22,

23.

24.

(a) 9 forH) o/ A o Gie k1 fopeft 19 HeT o Y H Hehtol AT AT 8

a F1 i & @t qie geg o € 91 B @ 2

(b) F1Hafd o Gien T TEOGET i+ W 9Ted F2 Gdfd o @Y F1 9dfd &
Qi ¥ fopd TR i 21d 8 2 39 Y& 1 RO T |

(c) 39 J&IU1 & YR Y AhTeAT ST Hehed aTeAT Tk sehy feAfam |

(a) T BRIV ! TNV hiH TG HLdl & ? IGHTUST I AR qee
fetfag |

(b) (i) Toreht mrgr Brgy, dem (i) forelt X Ty =1 fom Fafor e ater I
T 3ufed TR & el 1 3gE I |

freffad g g 4 I8 guie o o foemr sma difun 6 wada &

TTITd, 3 ATAfd feRToT BT T BNl § W a8

(a) Torelt I qUUT W 3ok &I 318 o FHIAL AT HLdl & |

(b)  TorHl e UV WX 36k YT BIRH & TToRd §Y YA HLd @ |

(c)  Tordll 3T TUUT % Ya W U1 o T A o ek Al g3 A Hidl 2 | 3

(a) Toegauielt ar 1 *Ig Pree fopell Ao & T & | 39 feufa o
w1 Yo TR Srom afe fREt yew 8 grees % gfw g9 &l o3|
FUSH! * Th i
(i) T 3R dSH & A S 2
(i) ¥ S ¥ g SR S ?

(iii) < 9 fEoR @ S 2

(b) B arelt qiEeT i AW fefau |

(c) ST o TR (i), (ii) TR (iil) & YOI &% MY W e arel
foreendd farflaw |

1§ B — 2:5 m HIHE Gl % =W HI IWAM HT 2 |

(a) 39 gf¥ QN &1 9 faRaw |

(b) 39 Y % GG % AT SH-A TF 1 I Foram ST B 2

(c) 39 QY % BH % & Y@ RO hl I ST |

(@ 38 g s Wit giehfaa HIfT |

AT
EFITUTZ&%I'Q:
(a) T o Gohd (Raat) o foie atret &1 g1 SiTar @ |
(b)  SFafer § ST SHIaAT Jedid B 8 |
(c) aTEdlceh FARA 3R U FITT o s THT T 3wl oo 2 e 7 |

.31/5/1 g@g 16
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20.

21.

22.

23.

24.

(a)

(b)

(c)

(a)

(b)

Why is the F1 progeny always of tall plants when a tall pea plant
is crossed with a short pea plant ?

How is F2 progeny obtained by self-pollination of F1 progeny
different from F1 progeny ? Give reason for this observation.

State a conclusion that can be drawn on the basis of this
observation.

What provides nutrition to human sperms ? State the genetic
constitution of a sperm.

Mention the chromosome pair present in zygote which determines
the sex of (i) a female child, and (ii) a male child.

Draw ray diagram in each of the following cases to show what happens
after reflection to the incident ray when

(a)
(b)

(c)

(a)

(b)
(c)

it is parallel to the principal axis and falling on a convex mirror.

it is falling on a concave mirror while passing through its principal
focus.

it is coming oblique to the principal axis and falling on the pole of a
convex mirror.

A coil of insulated wire is connected to a galvanometer. What

would be observed if a strong bar magnet with its south pole
towards one face of the coil is

1) moved quickly toward it ?

(ii))  moved quickly away from it ?

(iii) held stationary near it ?

Name the phenomena involved.

State the conclusion based on the observations in (i), (i)
and (iii).

A student uses spectacles of focal length — 2:5 m.

(a)
(b)
(c)
(d)

Name the defect of vision he is suffering from.
Which lens is used for the correction of this defect ?
List two main causes of developing this defect.
Compute the power of this lens.

OR

Give reasons :

(a)
(b)
(c)

.31/5/1

Red colour is selected for danger signals.

The sky appears dark in space.

The time difference between actual sunset and apparent sunset is
about 2 minutes.
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Qug T

25. < 3TIEH X 3N Y U MU | 9 1Rl Bl T R W Ig 9T W TR

(a)
(b)

3EH X ¥ CO, 19 freherdt B, qen
TR Y B SO, M frererdt B |

B Aret SAfThAeT o THM™M® HIT qd §U 9 I™ERI hl g3l o
giEfad i % =X @i fafen |

(a)

(b)

26. (a)

(b)

(c)

AT

forq-oTees g Siw o uitssweor i fafy f e sm@ 6 agrean
g Hifsy |

T B8 1A o1 N I TohH TR SIST AT 8 ? 39 JfHAT 1 AT ol
B areft rfufshan w1 T Tt e |

THTEEET ! GRETST AT | SI¢4 & aft gvifaa auresE Eifan |

“@rg Af X g7 BN W Aafd gd & w1y et saen g g 17 |
U ¥ AT F1 Feehs fHehrerd € 2

Torell UeehIgial ol AETEd! hradarctsh 370l | Iiafad i shi ATfshan
7 &9 KMnO, &t ufisht &1 3g@ HIfe |

27. R T

(a)
(b)
(c)

(d)
(e)

.31/5/1

3fetrg ! gadT # e hi vefie fakr a91d gt g |

Qe H gieee e i g 2 |

ST ShRIEfhal H BUR IREER0T T Hherelhal H e giE=Ro § e
Bl 2 |

fe o Srgem 8 St ot @fasit it fa afy A gon # et Bt R
el # ared Bid @ Sefh gui=ai § 781 8 |
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SECTION C

25. Two ores X and Y were taken. On heating these ores it was observed that

(a)  ore X gives COg gas, and
(b)  oreY gives SOy gas.
Write steps to convert these ores into metals, giving chemical equations
of the reactions that take place.
OR
(a)  With the help of a diagram explain the method of refining of copper
by electrolysis.
(b) How are broken railway tracks joined ? Give the name of the
process and the chemical equation of the reaction involved. 5
26. (a) Define isomerism. Draw all possible isomers of butane.
(b)  “A compound X’ on combustion gives a yellow flame with lots of
smoke.” What inference would you draw from this statement ?
(c)  State the role of alkaline KMnO, in the reaction involving
conversion of an alcohol to corresponding carboxylic acid. 5
27. Give reasons :
(a)  Ventricles have thicker muscular walls than atria.
(b)  Transport system in plants is slow.
(c) Circulation of blood in aquatic vertebrates differs from that in
terrestrial vertebrates.
(d)  During the daytime, water and minerals travel faster through
xylem as compared to the night.
(e)  Veins have valves whereas arteries do not. 5
31/5/1  EgE 19 | PTO
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28. feu U M@ & MuR W = feu MU ywai & I i

(a) WW A, B, C 3R D &I AT I |
(b)  gNOT gRT wfera grai o1 A foaRay 3t swehl yfter w1 Seo@ il |
(¢) 9 Uisham § B 3R C o M1 o1 33T I |

AAAT

(a) F=fafiga SHai & S99 f famett & 9@ faflar it g3 faar i
HEEqUl TorRIvaT &1 3g@ T :
(i)  ToWfE
(i)  arsgr
(iil)  TEAIH
(b) BH NI ht Iradl & 9T WY ITH o Tohd 7 | feoaufi HifSw |

(c) S i o fagredi &t qom # wIRe Y9 b q A h g
TR |
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28. Based on the given diagram answer the questions given below :

(a)
(b)
(c)

(a)

(b)

(c)

.31/5/1

Testis

Label the parts A, B, C and D.

Name the hormone secreted by testis and mention its role.

State the functions of B and C in the process of reproduction. 5
OR

Name the mode of reproduction of the following organisms and
state the important feature of each mode :

1) Planaria
(ii)) Hydra
(i1i)  Rhizopus

We can develop new plants from the leaves of Bryophyllum.
Comment.

List two advantages of vegetative propagation over other modes of
reproduction. 5
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29. (a)
(b)

30. (a)
(b)
(c)
(a)
(b)

.31/5/1

100 W, 220 V G 10 W, 220 V 3T{HATh % & <F9 220 V 3l g &

uyd o HAIfd 8 | 39 iUy ¥ YarfEd o G uiehford HIf |

3 gfqteenl X 3T Y, e gfqty A 2 Q 3 3 Q &, o1 98 Jr9d

H SR Tt goft # waiiora foham o 7 | Sk SRl | STYfd SRl dleedn

5Ve I

i) Y% T § gioliEehl & TS I ewie % faw ufmy oma
it |

) Ifeiees & Ioft GEeH # 3 Q & ufliuse & W W dieear
aftesfera shifsr |

foret e & A9 & fordt ®as W fodes fesm 9 smufaa ferelt gemmar
foptor <h1 9 e ok fotu qriferd fortor sm@ ifw |

HIF & TAG & YT T AYId-Th TNehieAd shifod | feam T 2 : i &
TS H YR 1 =T 2 x 108 m/s qAT I H YT A = 3 x 108 m/s

3|
I foreft <" 1 Ik — 2:5 D 7, 1 IHeh! Hiehdl gl THEhfoTd HIT |

AT

frepegfe Q@ difsa foreft =ale 1 — 2:5 D smar & Togs o d
TIYHT Yg 1 geAa T T | sE wikE gl % TRl e @i F
ST H AT T | IS B 39 o™ W fopel fors w1 fehat gl
T@ qTfeh 38 oiFel T Jidfers 8 § 10 cm g W ?

Iuh YR | w4 ufdfers < feafa o wepfa o6t guia & forg femtor
Mg Eiftau |

<hl
Eal
T
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29.

30.

.31/5/1

(a)

(b)

(a)

(b)

(c)

(a)

(b)

e
B

Two lamps rated 100 W, 220 V and 10 W, 220 V are connected in
parallel to 220 V supply. Calculate the total current through the
circuit.

Two resistors X and Y of resistances 2 Q and 3 Q respectively are
first joined in parallel and then in series. In each case the voltage
suppliedis 5 V.

(1) Draw circuit diagrams to show the combination of resistors

in each case.

(i1)  Calculate the voltage across the 3 Q resistor in the series
combination of resistors.

Draw a labelled ray diagram to show the path of a ray of light
incident obliquely on one face of a glass slab.

Calculate the refractive index of the material of a glass slab. Given
that the speed of light through the glass slab is 2 x 108 m/s and in
air is 3 x 10% m/s.

Calculate the focal length of a lens, if its power is — 2:5 D.
OR

A person suffering from myopia (near-sightedness) was advised to
wear corrective lens of power —2-5 D. A spherical lens of same
focal length was taken in the laboratory. At what distance should a
student place an object from this lens so that it forms an image at
a distance of 10 cm from the lens ?

Draw a ray diagram to show the position and nature of the image
formed in the above case.
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(ii)

(i11)

(iv)

(v)

(vi)

(vii)

2.

3152 e 3 - PTO.

This question paper comprises three Sections — A, B and C. There are
30 questions in the question paper. All questions are compulsory.

Section A — Questions no. 1 to 14 — all questions or part thereof are of
one mark each. These questions comprise Multiple Choice Questions
(MCQ), Very Short Answer (VSA) and Assertion—-Reason type questions.
Answer to these questions should be given in one word or one sentence.

Section B - Questions no. 15 to 24 are short answer type questions,
carrying 8 marks each. Answer to these questions should not exceed 50 to
60 words.

Section C - Questions no. 25 to 30 are long answer type questions,
carrying 5 marks each. Answer to these questions should not exceed 80 to

90 words.

Answers should be brief and to the point. Also the above mentioned word
limit be adhered to as far as possible.

There is no overall choice in the question paper. However, an internal
choice has been provided in some questions in each Section. Only one of
the choices in such questions have to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

State the common characteristic of the following elements :

Boron, Silicon, Germanium and Arsenic

OR
State the Periodic Law on which the Modern Periodic Table is based.

Covalent compounds are generally poor conductors of electricity. Why ?

[



3. T EEA 3(a) ® 3(d) F= & TS atfereRt 3R = H @ TS HefUd gEet W
arenfed £ |

TS5 eIk B (TSH) ARUTFI IUH Hid o I ATese Ul I Igiea
AT 8 | I & TS difeterT ST 31eIA i |

FTfeTe®T : TYlaEdT #1 37arer § TSH & &

TITaeT M = 3I=q
=] (mU/L) (mU/L) (mU/L)
v fomral 0-2-25 <02 2:5-10

feda faard 0-3-3-0 <03 3-01-4-5

GEIRRREI] 0-8 - 52 <08 > 53

THIGET § TSH o T &l A1l ST He@Ul &l & | TSH 1 359 &R AR
BRUITEEesH TG % HANT i fI9Y &9 § wwifed U HehaT B | I
oTstise Ty <t Tgfaa foha o fema/femor 6 fore gfaet & wmst gro 3fea
zargat (Faferean) e oTmaves gt B |

3(a) TSH I U 4H TfEy |

3(b) TSH Y@ %1 Hl Ieai@ hINT |

3(c) Tl AfFATST % TSH TR ohl AT i hl ATkl 1 & ?

3(d) et miadt #Afgem 1 TSH &R 895 mU/L 2 | 38 fhE TR i
TE-YTA hl TRl g ?
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information in the passage given below.

Question numbers 3(a)—3(d) are based on the table and related

Thyroid Stimulating Hormone (TSH) stimulates thyroid gland to produce

thyroxine. Study the table given below.

Table : TSH levels during pregnancy

St ¢ Normal Low High

age of pregnanc

8¢ OLPIORANEY | (mu/L) (mU/L) (mU/L)
First trimester 0-2-25 <02 2-5-10
Second trimester 0-3-3-0 <03 3-:01-4-5
Third trimester 0-8—-52 <0-8 > 53

It is important to monitor TSH levels during pregnancy. High TSH levels

and hypothyroidism can especially affect chances of miscarriage.

Therefore, proper medication in consultation with a doctor is required to

regulate/control the proper functioning of the thyroid gland.

3(a) Give the full form of TSH.
3(b) State the main function of TSH.
3(c) Why do TSH levels in pregnant women need to be monitored ?
3(d) A pregnant woman has TSH level of 895 mU/L. What care is
needed for her ?
352 8y _PTO.
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4. Tmafafga sese o wafua el Tff Teheumreti St = & IR W I
HEAT 4(a) § 4(d) 3 IW G ;

YRA H R Wik T el fepfea gian gt e 2 | 31 s, 2019 T <1 i
R yfqeetiud &Har 30-071 GW dh Ugd 5 off | R # ufserfud €@ Wil
Tt &t gfd MW dSit Td @98 H B | el 2019 ° OR foRq S 3
ST BH areft faga S 1 T 3.49% feni it 18 | ffafea aiferer ©
fUsat ©: aul A arffer O 31fe ST =t gertan = B |

ay YR 916 S (TWh)
2013 - 14 3-35
2014 - 15 4-60
2015 — 16 7-45
2016 — 17 12-09
2017 - 18 25-87
2018 — 19 39-27

FUN o9 Wrasent 8 fop oy o Srfirenisr 9 § € ot Ut aid Wl & | v
31 7 Toh wRa 5000 ffe™™ kWh & Jea St & e Sofl T a6 § g3 4
Ted AT B |

4(a) YR UA H G ?

4(b) 99 H W IH W Fre T&dt TR ¥ ¥ fopa dieear fasiad TR fepat
forerq Scaat < 1 wehdt B 2

4(c) HRd H G- S g/ Sfth T4 1 ATy Issadd 8 | 8T I ST |
4(d) TR TS % AT Bl eag HIT |
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4, Answer question numbers 4(a) — 4(d) on the basis of your understanding

of the following paragraph and the related studied concepts :

Solar power in India is a fast developing industry. The country’s solar
installed capacity reached 30-071 GW as of 31 July, 2019. India has the
lowest capital cost per MW to install solar power plants. Solar electricity
generation recorded nearly 3-4% of total utility electricity generation in
January 2019. The following table shows Annual Solar Power Generation

of the last six years.

Year Solar Power Generation (TWh)
2013 -14 3-35
2014 - 15 4-60
2015 -16 7-45
2016 — 17 12-09
2017 - 18 25-87
2018 - 19 39-27

Our country is lucky to receive solar energy for the greater part of the
year. It is estimated that during a year India receives the energy
equivalent to more than 5000 trillion kWh from the Sun.

4(a) What are solar cells ? 1

4(b) How much voltage can be developed and how much electricity can

be produced by one typical solar cell when exposed to the Sun ? 1

4(c) The future of power generation by solar energy is bright in India.

Give reason. 1

4(d) List two advantages of solar cells. 1

31/5/2 = 7 | pTO
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5. TS YT THEAM TIEI-HIC FTBA ‘A’ h Tohel! ITHTHR dTeieh ol Uiy
R 2 | I g o TRl 3= =T Reh! avems 25 1 99 Iiald 0-5 R @, &

ITIIEY-HIE HABA BT
(A) B5A
(B) 25A
(C) 05A
1
D) - A
(D) E

6. I BH 9 A 4 foret fora bl gl # afg wad &, q1 s oim @ wiafers

i
(A) ¢ I 7 |
(B) ©E I E |

(C) H I3 UNadd gl gIdT |
(D) SHA-TicAh o T3S WX R ol B |

7.  mA 3R pA F A HAW: B
(A) 106A3R109A
(B) 103AIR106A
(C) 103A3MN109A
(D) 106A3R103A

8.  TgdTd i I Mg ferdes fow ufirg 8 2

(A) TH & YHR % &l - qeA (), WA (Seh) AR FehlcTed MM
(ATheeR)

(B) Taue! sTgieM

(©) faeqa Safafaga

(D) i ¥ YU H T AR hl AFieH
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5. A cylindrical conductor of length " and uniform area of cross-section ‘A’
has resistance ‘R’. Another conductor of length 2-5 [ and resistance 0-5 R

of the same material has area of cross-section

A bHA
B) 25A
(C) O05A
1
D =-A
( 5
6. The image distance from the eye lens in the normal eye when we increase
the distance of an object from the eye
(A) increases.
(B)  decreases.
(C) remains unchanged.
(D) depends on the size of the eyeball.
7. The values of mA and pA are
(A) 1076 A and 1079 A respectively
(B) 1073 A and 10-% A respectively
(C) 103 A and 1079 A respectively
(D) 1076 A and 103 A respectively
8. The Reni village of Garhwal is famous for 1

(A)  Monocultures of pine, teak and eucalyptus.

(B)  Chipko Movement.

(C)  Extensive biodiversity.

(D)  Participation of local people in efficient management of forests.
3152 59 9 - PTO.
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10.

fret 98 UEISAT 1 Y Rd 99 TG kI o gl AEfiea
AT R fomm hifse

I. T gomes fou foramt ok Toria stifcanfimt s fomemaT |
II. o fopelt =mw & SiHaT o sigd HAfaeh o ol ol ST |
1. SAFeH R Safafagar i g |

iyt o1 =Yl & IR H 8 el AN 8

(A) IR
(B) I3 III
(C) I3 II

(D) I, I3 I
T

SIS dodl I Y@l o o= 317% w1 9o fge gl aifeai h aowa
HET 9= TR o ‘R’ H 9 ford gl aftynivd ssear 2 2

(A) G TR

(B)  UA: ST
(C) YH: TN
(D) H ITAM

AT ShHTeh 12 ST IS ded X TCHTY] ShATeh 17 % fohell 319 a0 Y o @19 h1$
Rk ST B | 39 TR =4 AT H1 g B

A) XY
(B) XY,
© XY
D) XY,

rEn
P T X AT ATFES SAIAT & | $Heh! MYk Tad TRuf H Haifeh
Tyfera feufa 2

(A) 79 13 31ed 3

(B) 79 16 3R 1&d 3

(C) 9 17 3R AEd 3

(D) 9 23R 31mEd 3
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10.

Consider the following criticisms that are generally addressed when a
new project is launched :

I. Displacement of peasants and local tribals without compensation.

II. Swallowing up large amount of public money without any benefits.

III. Deforestation and loss of biodiversity.

The criticisms about large dams in particular are 1
(A) TandII

(B) II andIII

(C) TIandIII

(D) I,IIandIII

OR
Switching off unnecessary lights and fans and repairing leaking taps
correctly defines which term of 5R’s ? 1
(A)  Recycle
(B) Reuse
(C)  Repurpose
(D)  Reduce
An element X with atomic number 12 forms a compound with element Y
with atomic number 17. The formula of the compound formed is 1
A) XY
(B) XY,
) X9Y
D)  XyY3

OR

An element X is forming acidic oxide. Its most probable position in the
modern periodic table is 1

(A)  Group 1 and Period 3
(B)  Group 16 and Period 3
(C)  Group 17 and Period 3
(D)  Group 2 and Period 3

31/5/2 = 11 | pTO
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11. HE dc%he &l AAUH T« HH T HIE Y0 3 AR g 14 &t 8 | 39
3TfTsRaT w1 ford SR | afiehd foRam ST Hehell 8 2
A)  Toeam 3R TS
(B)  TeriiSi i teier
(C)  Toreamaa I eATITet

(D) faiem it w3 (Swmad)

12. 3If¢ §9M "igal % 10 mL H,SO, %I 10 mL Mg(OH), % &9 foermn S, i
giomdt foeem et g=e & Fefafad § 9 SF-81 313 2

(A) oA
(B)  diem
(C) =0

(D) rem

97 GCAT 13 3R 14 & 70, 31 %97 177 10 § 574 v &1 sifeahaT (A) a9ar gar
& SWUT (R) ZRT Hfeba f6am 747 § | 37 T91 & @zl 3w¢ A9 30 77 ®is (i),
(ii), (iii) 37 (iv) & @ g7 Fifaw |

i) (AR (R)IH @& & a9 (R), AR (A) 1 T8 ATEH L1 7 |

()  (A) IR (R) S TEl §, W (R), SATH (A) T T AT 7@ LT B |

(i) (A) @& &, Tg (R) Tod & |

(iv) (AT 8, g (R) & & |

13.  3fUHYT (A) : 3= A W OGS b IR § ALILH I 3Tfeeh TUTSHT el |
PRU(R):  Tonelt ggrel o1 wioig TR fqligehar gl & 19 < @1 foa=mo
U § |
14. 379 (A) : TS <l I1 Al S TR JAYeT SR UgUl hich Ichse T4
fom STed ot <l e Y B @ |
FR (R) : TS o STEAH I H IR SAFS BId & TR SHH hie 37dT
3 Tl o FolagHl O HISERT i hl Jgfd &t 7 |
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11. Strong heating of ferrous sulphate leads to the formation of a brown solid

and two gases. This reaction can be categorised as 1
(A) displacement and redox.

(B)  decomposition and redox.

(C) displacement and endothermic.

(D)  decomposition and exothermic.

12. If 10 mL of HySO, is mixed with 10 mL of Mg(OH)y of the same

concentration, the resultant solution will give the following colour with

universal indicator : 1
(A)  Red

(B)  Yellow

(C)  Green

(D) Blue

For question numbers 13 and 14, two statements are given —one labelled
Assertion (A) and the other labelled Reason (R). Select the correct
answer to these questions from the codes (i), (ii), (iii) and (iv) as given
below.

) Both (A) and (R) are true and (R) is correct explanation of the
assertion (A).

(i1)  Both (A) and (R) are true, but (R) is not the correct explanation of
the assertion (A).

(i)  (A) is true, but (R) is false.
(iv)  (A)is false, but (R) is true.

13. Assertion (A) : At high temperatures, metal wires have a greater chance
of short circuiting.

Reason (R): Both resistance and resistivity of a material vary with
temperature. 1

14. Assertion (A) : Carbon has a strong tendency to either lose or gain
electrons to attain noble gas configuration.

Reason (R): Carbon has four electrons in its outermost shell and has
the tendency to share electrons with carbon or other
elements. 1
31/5/2 = 13 - P.TO.
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15. <t o fagq-smaeed §
(a) TS 3R hYiE T qh g aTell 74l & 4M T |

(b) TH TGS W G 2 aTcil TG HT ST g IFIS T Tk & arelt
9 o A I AT 1 Bl 8 ?

(¢) 3dfe @ # 99 HySO, 7 firetmd at < g 2 3
HAAAT

frel TEEfe Afe X T I WA AR Hig IAM H BT B | 3

AIU-TA (STEH) T TR AT 8 |

(a) Xl TR T, A= T IR Tt g7 fafa |

(b) 38 S H g el Atk o1 wieRr fafw |

(c) o 81 2 99 I8 TH i ¥ ATshan eam & fE® Ca a1 Mg & @@ gt

A 8 ? 3

16. I IURSR U ‘M’ SoiH W ThEIY i dTell qbg SITal 8 Jordt @ 3R

g TRe ‘N’ # §gd It @ |

(a) M AR N’ &l g HIVT |

(b) ITE At o1 wgfera Tamfes e % &9 § fEfig hif |

(c) 38 AR & M o1 IU=RA BT 3 YT U= ? 39 I hT gfY

T | 3
17. (a) TUSAIH TTad GO 3T 1Y ATad GRof @ &= fehegi qf faveTei
Ao Y T SR |
(b) T 3GTEN <hl WERICT ¥ SToRISH o Ik il =amen v |
(c) oMgHeh 3tmed M forfau | 3

18. (a) YU WfshAT H KUl o H1 I Ig@ HINT |
(b)  Telia Sfidl i e Siefta Shal 1 varg 2t sgd i (ga) & 2 |

FHHT SR ST |
(c) ORIV o [oREUSH ohl SN aTel FHTTiad 99 sl U I : 3
EAINED] ‘ 0, ! 3ufexfa
IS A, 2 2 L) —— +H0+F
(G_W 3;@) (3_$|Ei:[ qﬁ?ﬁmﬁ
S|
+3olh)
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15. In the
(a)
(b)

(c)

SECTION B

electrolysis of water
Name the gases liberated at anode and cathode.

Why is it that the volume of gas collected on one electrode is two
times that on the other electrode ?

What would happen if dil. HySOy4 is not added to water ? 3
OR

A chemical compound X’ is used in the soap and glass industry. It is
prepared from brine.

(a)
(b)
(c)

Write the chemical name, common name and chemical formula of X.
Write the equation involved in its preparation.

What happens when it is treated with water containing Ca or Mg
salts ? 3

16. A shining metal ‘M’, on burning gives a dazzling white flame and changes
to a white powder ‘N’.

(a)  Identify ‘M’ and ‘N’.
(b)  Represent the above reaction in the form of a balanced chemical
equation.
(c) Does ‘M’ undergo oxidation or reduction in this reaction ? Justify. 3
17. (a) List any two distinguishing features between Mendeleev’s Periodic
Table and the Modern Periodic Table.
(b)  With the help of an example, explain Dobereiner’s Triads.
(c) State Modern Periodic Law. 3
18. (a) In the process of respiration, state the function of alveoli.
(b)  Rate of breathing in aquatic organisms is much faster than that in
terrestrial organisms. Give reasons.
(c) Complete the following pathway showing the breakdown of glucose: 3
: 9 Presence of O 9
Glucose —— cytoplasm i - — _2 (i) —— + Hy,0
(6-carbon (3-carbon in mitochondria + energy
molecules) molecules
+ energy)
31/5/2 EgE 15 | PTO
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19.

20.

21.

22,

JMER H@T § Il T H =1 qedd g ? AR G Eq ohl T SRR @

TR | SATER Gl H HoAl YaT8 Ted ThHieeh g1 2 | F: i 2

YT
TGS 37 39 TRl W Agia F=fiRed wamE i@ & g HifT |
(v) _?
A 8
A
L]
WE’W
(i) _?
G _? ’
IR i §
V) ? (iii) __?

(a) W IBERIVSAT ! TNV hiH TG Al & ? ISR 1 ATARh o
fafeT |
(b) (i) foret ATeT f3rgy, @ (i) femelt T forg =1 o faftor s aret o

H 3UTEd TUIEEt < I I 3@ hHIT |
fefafga i aftamn S
(a)  SIfd 3gWad
(b)  STehideh Ul
(c) AafmEh T

g It fopelt AR (JGE) UV o A0 @I 8 | 98 gU01 # & 379 Wit
T 3 T 1 9rse § 98T, 3199 YRR o i o T 1 9159 H 9 997 3194
T 1 G1sT H BieT Yidferd e@dl B | fafie go6r & gdun 1 3w e s
39 A qUur Y BEAT hl AT HINT | 39T I b gH H SR off

aifre |
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19. What is meant by trophic level in a food chain ? Construct a terrestrial
food chain with four trophic levels. The energy flow in a food chain is

always unidirectional. Why ? 3
OR
Complete the following flow chart based on ecosystem and its components. 3
(iv) _?
Comprises
TERRESTRIAL
BIOTIC
Types Components
ECOSYSTEM
(i) _?
1 _?
Definition Comprises
v) ? (iii) __?
20. (a) What provides nutrition to human sperms ? State the genetic
constitution of a sperm.
(b)  Mention the chromosome pair present in zygote which determines
the sex of (i) a female child, and (ii) a male child. 3
21.  Define the following :
(a)  Speciation
(b)  Natural Selection
(c) Genetic Drift 3
22. A child is standing in front of a magic mirror. She finds the image of her
head bigger, the middle portion of her body of the same size and that of
the legs smaller. Explain the construction of the magic mirror using
different types of mirrors. Also state the reasons in support of your
answer. 3

31/5/2 = 17 | pTO
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23. IS B — 2:5 m BIHE U & AW B I HAT 8 |
(a)
(b)
(c)
(d)

3G gf¥ g &1 4 fafew |
3H TIY o HIMYA o (I -8 &F T 3TN foham 1am & 2
39 gfP 39 o B h &1 YHE HRON 1 e ST |
39 O 1 Itk qiepteld Shifwg |
AT

<h U] aﬁm :
(a)
(b)
(c)
24. (a)

(b)
(c)

| & Toha (faeti) & T @rer a1 g1 Sirar 2 |
AT TR HTAT Yl BT 7 |
T eh AT TR AT FATE o s 0 T ST AT 2 e 2 |

forgaiet AR 1 *IE Frea frdl Tieamier @ Taifv & | 39 feafa ®
w1 Yo TR Smom afe foret yea 8 grees % gfaw g9 &+l 3|

FUSTH! oh Teh 7R
(G) <Al 3T dsit ¥ AT ST 2

(i) ¥ Sl | @ S S 2
(Gii) o @ foRr @ S 2
B areft ufteredr =1 9 fafgu |

STIh dF TR (i), (i) SR (i) % Y& H YR W fehe aran

T forfiam |
Qus T
25. = fqu MU SEd AR (a) 3R (b) o AU RV fo=m Hifr -
(a) CgHgO
(b)  CsHgO,

.31/5/2

(i)
(i1)

(ii1)

o)
(S

(a) 3TR (b) H ThMATCHE FHGI I TEATHT TR FTeh! TLEA AT |

T (a) 3R (b) THEIS & ? SR LT |

T a1 § 59 Tohe! TEet § W T oA § @R KMnO, % T-T
g Sleh SIAT AT & ? B aTett STffsha 1 TamRfes dwfieto faRaw qe
9 & KMnO,, i YfHert 1 3g@ HIfT |

18

3

5



23.

24.

25.

.31/5/2

A student uses spectacles of focal length — 2:5 m.

(a)
(b)
(c)
(d)

Name the defect of vision he is suffering from.
Which lens is used for the correction of this defect ?
List two main causes of developing this defect.

Compute the power of this lens.

OR

Give reasons :

(a)
(b)
(c)

(a)

(b)
(c)

Red colour is selected for danger signals.
The sky appears dark in space.

The time difference between actual sunset and apparent sunset is
about 2 minutes.

A coil of insulated wire is connected to a galvanometer. What
would be observed if a strong bar magnet with its south pole
towards one face of the coil is

1) moved quickly toward it ?

(i1))  moved quickly away from it ?
(iii)  held stationary near it ?
Name the phenomena involved.

State the conclusion based on the observations in (i), (i)
and (iii).

SECTION C

Consider the molecular formula of the carbon compounds (a) and (b)
given below :

(i)

(i1)

(ii1)

e
B

(a) CsHgO

(b) C3HgOq

Identify the functional groups in (a) and (b) and write their
structures.

Are (a) and (b) isomers ? Give reason.

What happens when alkaline KMnO, is added, drop by drop, into a
test tube containing warm propanol ? Write the chemical equation
for the reaction and state the role of alkaline KMnO, in this
reaction.

19 - PTO.



26. T 3TH X AR Y foTU 7 | 37 StaEent i Wi i W I I TR TR
(a) 3R X ¥ CO, T fehardt 7, an
(b) 3EH Y A SO, T8 Feherdl 7 |
B ATel SAUTRATS o THEMS HHI od §U 39 SR I gl |
giafdd = & =2on i fafau |
Jrra

(a) Tagq-oTeed g0 i & gitsshtor i1 fafy 6 samen sm@ 6 Jgrl
g i |

(b) 2 3 1A o Yl I ThH TR SIST ST @ 2 $9 WishaT I A9 q
B areht sk 1 T Frfiet i |

27. fau U SRE % R w A= feu U gei o I A .

(a) YT A, B, C 3 D &l AMHTHA HIFT |
(b)  JOT gRI Gferd gTHM o1 A1 fARau 3Tk soehl ekt 1 Seor@ HifT |
(¢) 9 Uisham § B 3R C o 1 1 33T HIWY |

AT
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26. Two ores X and Y were taken. On heating these ores it was observed that

(a)  ore X gives COg gas, and
(b)  oreY gives SOy gas.

Write steps to convert these ores into metals, giving chemical equations

of the reactions that take place.
OR

(a)  With the help of a diagram explain the method of refining of copper

by electrolysis.
(b) How are broken railway tracks joined ? Give the name of the

process and the chemical equation of the reaction involved. 5

27. Based on the given diagram answer the questions given below :
B
Bladder
C
Testis

(a)  Label the parts A, B, C and D.
(b) Name the hormone secreted by testis and mention its role.
(c) State the functions of B and C in the process of reproduction. 5

OR

31/512 8 21 PT O
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(a)

(b)
(c)

frafefga Sl & s i fawnstt & 9@ fafley it g faar
HEwaqul eIyt &1 3g@ HIT

(i)  ofRE

Gi)  @Eg

(i)  TgIaH

Y ST <hl Ufer ™l & ¢ qie 919 & Gehd 3 | fevaoft Hifsu |

S I o fagnedi Wi et H IR Ya€d W @ oWl i g
ST |

28. Ig a4 & foru ford) fepamencta Y rfirercaat hIfT for “yerror-dvaimor & fag

FARIhe (BNdeTaeh) 3w & |

29. (a)

(b)

(c)

(a)

(b)
30. (a)
(b)
(c)

(d)

.31/5/2

o)
(S

fopell i & wid o fopell ®as W fode fom 4 stmfoa ferelt sehmmt

feRtur %1 9l qRIH o foTq AmifeRd fomtor i@ ST |

HIF & AT & U 1 JAYIAHTR THehfdAd shifou | feam T 2 : i

TS H YR 1 =T 2 x 108 m/s qAT I H YT <l = 3 x 108 m/s

g |

It fordll <18 sl Witk — 2:5 D @, d1 3Teh! ®ishd gl TRehfoTd HIfTT |
YT

frepegfe Qv @ difsa forelt =alkE =1 — 2:5 D &maT & TIgH < F H

e UEH 1 gea foan T | s wiekE g o TRl Mo @ Wl

TITIAT H AR T | IS B 39 | § fopell fors w1 fehat gt W

T@ qfeh 38 foirel T Jidfers 8 § 10 cm g W ?

Iudh wehur H o ufdfers <t feufa it wepfa 1 qwiia & ferw femtom

@ gifaw |

3w w1 frem fafaw |

Toreht farggq aftaey # UHiex fope TohR T Tohal STTal 3 2

forelt o 1 WIF 100 W2 | 36 o gRT 1 fie § 3uee <ol 311d

HIfTT |

5 Q Wiy % forel TR I 95 I o &9 § AISI T 2 | 39 I o fohell

o =8 % 31 Rl % forrgatl o o= afaly [ HiT |
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(a)

(b)

(c)

Name the mode of reproduction of the following organisms and
state the important feature of each mode :

1) Planaria

(i1)  Hydra

(iii) Rhizopus

We can develop new plants from the leaves of Bryophyllum.
Comment.

List two advantages of vegetative propagation over other modes of
reproduction.

28. Design an activity to show that chlorophyll is essential for

photosynthesis.

29. (a)

(b)

(c)

(a)

(b)
30. (a)

(b)
(c)

(d)

.31/5/2

e
B

Draw a labelled ray diagram to show the path of a ray of light
incident obliquely on one face of a glass slab.

Calculate the refractive index of the material of a glass slab. Given
that the speed of light through the glass slab is 2 x 108 m/s and in
air is 3 x 108 m/s.

Calculate the focal length of a lens, if its power is — 2-5 D.

OR

A person suffering from myopia (near-sightedness) was advised to
wear corrective lens of power —2-5 D. A spherical lens of same
focal length was taken in the laboratory. At what distance should a

student place an object from this lens so that it forms an image at
a distance of 10 cm from the lens ?

Draw a ray diagram to show the position and nature of the image
formed in the above case.

State Ohm’s Law.
How is an ammeter connected in an electric circuit ?

The power of a lamp is 100 W. Find the energy consumed by it in
1 minute.
A wire of resistance 5 Q is bent in the form of a closed circle. Find
the resistance between two points at the ends of any diameter of
the circle.
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

This question paper comprises three Sections — A, B and C. There are
30 questions in the question paper. All questions are compulsory.

Section A — Questions no. 1 to 14 — all questions or part thereof are of

one mark each. These questions comprise Multiple Choice Questions
(MCQ), Very Short Answer (VSA) and Assertion—-Reason type questions.
Answer to these questions should be given in one word or one sentence.

Section B - Questions no. 15 to 24 are short answer type questions,
carrying 3 marks each. Answer to these questions should not exceed 50 to
60 words.

Section C - Questions no. 25 to 30 are long answer type questions,
carrying 5 marks each. Answer to these questions should not exceed 80 to
90 words.

Answers should be brief and to the point. Also the above mentioned word
limit be adhered to as far as possible.

There is no overall choice in the question paper. However, an internal
choice has been provided in some questions in each Section. Only one of
the choices in such questions have to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

For question numbers 1 and 2, two statements are given — one labelled
Assertion (A) and the other labelled Reason (R). Select the correct
answer to these questions from the codes (i), (ii), (iii) and (iv) as given
below.

3153 = 3 - PTO.

) Both (A) and (R) are true and (R) is correct explanation of the
assertion (A).

(i1)  Both (A) and (R) are true, but (R) is not the correct explanation of
the assertion (A).

(i11)  (A) is true, but (R) is false.
(iv)  (A)is false, but (R) is true.

Assertion (A) : Carbon has a strong tendency to either lose or gain
electrons to attain noble gas configuration.

Reason (R): Carbon has four electrons in its outermost shell and has
the tendency to share electrons with carbon or other
elements.

[
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2. IMHYT(A): IA AU W GG oh AR H ALILA hi ATk FUEAT Bt 2 |
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Ch| "R 9tk S (TWh)
2013 - 14 3-35
2014 - 15 4-60
2015 - 16 7-45
2016 — 17 12-09
2017 - 18 25-87
2018 - 19 39-27

FUNT o9 9raset @ fob ad o orfirenisr Wi § € o1 ured aidl Wl & | v
UM g Tob 9 5000 Fefer kWh @ qod Seil @ 31fereh Sholl Wb o8 H @ @
YTed ol |
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2. Assertion (A) : At high temperatures, metal wires have a greater chance
of short circuiting.

Reason (R): Both resistance and resistivity of a material vary with

temperature. 1
3. Covalent compounds are generally poor conductors of electricity. Why ? 1
4, State the common characteristic of the following elements : 1

Boron, Silicon, Germanium and Arsenic

OR
State the Periodic Law on which the Modern Periodic Table is based. 1
5. Answer question numbers 5(a) — 5(d) on the basis of your understanding

of the following paragraph and the related studied concepts :

Solar power in India is a fast developing industry. The country’s solar
installed capacity reached 30-:071 GW as of 31 July, 2019. India has the
lowest capital cost per MW to install solar power plants. Solar electricity
generation recorded nearly 3:4% of total utility electricity generation in
January 2019. The following table shows Annual Solar Power Generation
of the last six years.

Year Solar Power Generation (TWh)
2013 - 14 3:35
2014 - 15 4-60
2015 -16 7-45
2016 — 17 12-09
2017 - 18 25-87
2018 - 19 39-27

Our country is lucky to receive solar energy for the greater part of the
year. It is estimated that during a year India receives the energy
equivalent to more than 5000 trillion kWh from the Sun.

31/5/3 g8 5 PTO
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5(a) EX AT FTE ?

5(b) 99§ W 9 W Forell T&d IR ¥ 9 Tt dieear fashiaa X foha]
forrq 3ca= 61 S Aokt B 2

5(c) YRd H G Holl gr’T Yith S T HiTST Issdd @ | SERT I Sl |
5(d) R Al o 2 ATHI I FElag HIT |

6. T TEA 6(a) ¥ 6(d) fI= &t TS arferent IR TfRE H & TS GElYd FEATS W
FaTiE 2 |
qTS{iss IEh UM (TSH) ARATRIT Icqe 3 & U orstiss Uy i Id
AT B | = &) T difeteht 1 AT il |
TIITHT : THIaIEeT FHT 37l § TSH & &

THTEET H T e I
O] (mU/L) (mU/L) (mU/L)
e fomEt 0-2-25 <02 2:5-10
feetar famma 0-3-30 <03 3-01 - 45
qaar fommat 0-8 - 52 <08 >5-3

THIGET § TSH o TR 1 A1l ST He@Ul &l & | TSH 1 359 &R 3R
BENIYTEUsiesd i % HAm  foRiy w9 @ ywifead 9 Hehar B | o
oTgifse Uty 1 agfaa fohan & feme/feme & fae sfeet o wmel g 3fem
gargat (faferean) gn eTawaes g 8 |
6(a) TSH %I g 4 TAfEU |
6(b) TSH ™ YI@ H1 1 Jeci@ HIT |
6(c) Mo AfgATsT % TSH T ol BT i i avIhdl &1 § ?
6(d) foreht et mfgem *1 TSH T 8-95 mU/L ? | 38 fhm &R i
TE-ATA <! ATIIIHAT 7 2
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5(a) What are solar cells ?
5(b) How much voltage can be developed and how much electricity can
be produced by one typical solar cell when exposed to the Sun ?
5(c) The future of power generation by solar energy is bright in India.
Give reason.
5(d) List two advantages of solar cells.
6. Question numbers 6(a)—6(d) are based on the table and related
information in the passage given below.
Thyroid Stimulating Hormone (TSH) stimulates thyroid gland to produce
thyroxine. Study the table given below.
Table : TSH levels during pregnancy
St ¢ Normal Low High
age of pregnanc
8¢ OLPICERAREY | (murL) (mU/L) (mU/L)
First trimester 0:2-25 <02 2:5-10
Second trimester 0-3-30 <03 3:01-4-5
Third trimester 0:8-52 <0-8 > 53
It is important to monitor TSH levels during pregnancy. High TSH levels
and hypothyroidism can especially affect chances of miscarriage.
Therefore, proper medication in consultation with a doctor is required to
regulate/control the proper functioning of the thyroid gland.
6(a) Give the full form of TSH.
6(b) State the main function of TSH.
6(c) Why do TSH levels in pregnant women need to be monitored ?
6(d) A pregnant woman has TSH level of 895 mU/L. What care is
needed for her ?
31/5/3 EgE
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7.  mA 3T uA $ A HEI: B
(A) 106AM109A
(B) 103A3R106A
(C) 103A3R109A
(D) 106AMR103A

8. WIS 7 AT THEHM STIIEA-HIC AR ‘A’ TRl IR =Treh I Tfald
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(B) 25A

€ 05A

@ La

5
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(A) ¢ I 7 |
(B) T A2 |

(C) U IS Yieda T8 g |
(D) FA-TMAS & FET T R Ll 2 |

10.  TATA 1 1 TiT fohEes o uftrg @ 2

(A) Th & THR b geli - uigd (Ss), @A (dh) SR Fehfored I
(ATheeR)

(B) Towe! sTrgieH

(©) faega Safafaga

(D) a1 % g8 YauA § T A <t arfierd
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(A)
(B)
(&)
(D)
.31/5/3

7. The values of mA and YA are
(A) 1076 A and 1079 A respectively
(B) 1073 A and 10~ A respectively
(C) 1073 A and 1079 A respectively
(D) 1076 A and 103 A respectively
8. A cylindrical conductor of length 7’ and uniform area of cross-section ‘A’
has resistance ‘R’. Another conductor of length 2-5 [ and resistance 0-5 R
of the same material has area of cross-section
(A bHA
(B) 25A
(C) 05A
1
(D) = A
9. The image distance from the eye lens in the normal eye when we increase
the distance of an object from the eye
(A) increases.
(B)  decreases.
(C) remains unchanged.
(D) depends on the size of the eyeball.
10. The Reni village of Garhwal is famous for

Monocultures of pine, teak and eucalyptus.

Chipko Movement.

Extensive biodiversity.

Participation of local people in efficient management of forests.
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12.

13.

. Tt 8 dfie o e wd wEE gm=a: Bl 9 9l fefafaa

aﬂ?ﬁwaﬁqtﬁ%rr{ﬁﬁm

I. forT gatasn feu fopamt ot o smifeanfemt = fazemT |
II. o fopell =mw o SiFaT o sIgd HAfaeh o ol ol ST |
III. Sge iR Safafaear € af |

foriwert @12 &fdl % R H B9 areft serEH |
(A) ISR II
(B) I3 III
(C) I3 III

(D) I, II3fR III
STaT

ITEIF dodl I Y@l & Ta= 3% w1 9o fEge arefl eifea i 7owd
HUHT 919 JhR &6 ‘R’ H O ford T gieisg otdr 8 2

(A) Y TR0

(B) YA WM
(C) TH: TN
(D) H ITAM

HE Gothe i AAUH T B W HIs U 3W M ¢ M a9t § | 39
rffsha =l fohd SRR H afieha foham ST Hehel B 2

(A) T o e

(B) Torriem ok efed

(C) Torzemu 3T et

(D) foem it Sw-3ET (Seaad))

I §9H &igal % 10 mL HySO, 1 10 mL Mg(OH), % 19 i S, di
gl foermm ardfe gus ot frefafaa o & w=-ar a1 2

(A) o

(B) i«
C) Bu
(D) e

Epm
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11. Consider the following criticisms that are generally addressed when a
new project is launched :

I. Displacement of peasants and local tribals without compensation.

II. Swallowing up large amount of public money without any benefits.

III. Deforestation and loss of biodiversity.

The criticisms about large dams in particular are 1
(A) TandII

(B) IIandIII
(C) TandIII
(D) L IIandIII

OR
Switching off unnecessary lights and fans and repairing leaking taps
correctly defines which term of 5R’s ? 1
(A)  Recycle
(B) Reuse
(C)  Repurpose
(D)  Reduce

12. Strong heating of ferrous sulphate leads to the formation of a brown solid
and two gases. This reaction can be categorised as 1

(A) displacement and redox.
(B) decomposition and redox.
(C) displacement and endothermic.

(D) decomposition and exothermic.

13. If 10 mL of HySO,4 is mixed with 10 mL of Mg(OH)y of the same
concentration, the resultant solution will give the following colour with

universal indicator : 1
(A)  Red

(B) Yellow

(C)  Green

(D) Blue

31/5/3 8 11 | PTO
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14. TTHTY] ShHT 12 T hig dd X TWHTY] AT 17 % Tohdll 311 a8 Y o oY hig

ek SHTAT B | 39 YRR & ik 1 g 7 1
(A) XY
B) XY,
D) XY,

AT
HIg dd X AT FAEE SHIAT 8 | $Hehl MY(eh Aad ARelt § waiieh
gyrfaa feurfa @ 1

(A) J9 1R 31meEd 3
(B) 79 16 3T 371ad 3
(C) 79 17 3R &Ed 3
(D) J9 23R 31ed 3
LCLERC

15. = & T vk YR hl Afulkarsti I 9 3T F HRV Id §U TEEH
I :

(a) Fey05 + 2Al —— AlyOg + 2Fe + 3FAT

3

()  Pb(NOj), + 2KI —Pbl, + 2KNO,

(¢) ZnCOq —>3i“ ZnO + CO,

16. i Li, K, Mg, C, Al, S § ¥ Ug=T :
(a) G9H ¥g (J9) & ad
(b) @ FAFEH @A I YT ATl

(c) I8 ad Sl 9T 3TTh YU i o [T SorareAl shl HISIGHT I TTeIfEehal
L

(d) TaH 3 difcass d=

(e) I8 dd Sl ITFAIT ITTFHTSS SHIT &

(f) IYg 131 dd 3
3153 9 12




14.

15.

16.

.31/5/3

An element X with atomic number 12 forms a compound with element Y

with atomic number 17. The formula of the compound formed is

(A)
(B)
(&)
(D)

XY
XY,
X,Y
XoY3
OR

An element X is forming acidic oxide. Its most probable position in the

modern periodic table is

(A)
(B)
©
(D)

Group 1 and Period 3
Group 16 and Period 3
Group 17 and Period 3
Group 2 and Period 3

SECTION B

Identify the type of each of the following reactions stating reason for your

answers :

(a)
(b)
(c)

Fe203 + 2A1 —— A1203 + 2Fe + heat

Pb(NOg), + 2KI ——> Pbl,, + 2KNO,

ZnCO4 —2€3 , 710 + CO,

From the elements Li, K, Mg, C, Al, S identify the

(a)
(b)
(c)
(d)
(e)
)

e
B

elements belonging to the same group.

element which has the tendency to lose two electrons.

element which prefers sharing of electrons to complete its octet.
most metallic element.

element that forms acidic oxide.

element that belongs to group 13.
13
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17. 9 o fagq-o9eed §
(a) UAIS 3R helg W Yk g aTeht i o A faRaw |

(b) T FAHIS W G &I aTell TH 1 A G FAFLS T Gk &l arel
9 o A I AT 1 Bl 8 ?

(¢) I I& ¥ 99 HySO, 7 fHamd at &= grm 2 3
AAAT

forell TR Aifies X° W1 3IUFM |IgH AR g AW H BT 7 | 3H

AAU-STA (SITSH) | SR S 7

(a) X o1 TEREIMS W, = 99 iR TEmfes g7 fafa |

(b)  $Heh S H B aTcll SATHIRAT H FHIER fAraT |

() o BT 8 S Ig TH oA & Affshan shar @ S Ca a1 Mg % @@ I
d 8 ? 3

18. (a) = feu Tu Sal i AER J@a H1 o HIT :
(b) 39 gd STER @ o ot 9l TR & Sig 1 919 faRaw |

(c) 39 MR J@al & FhE Sfa § onla-fefiewwfia @meHl 61 |
AfereRay Bt 2
(d) 398 Heg giEeT s aW fofau |

(e) AR 3@ MMER J@el # Heahl HI 10000 S[A Hoft YA 7, d AGT
foRaft St Iucted gIfT 2 3

AT

(a) UTNaT Tor9 had 8 2
(b)  Teredl <t wepferes wiftast 1 =t sHTSE |
(c) W qeal 3R Al sl TS &l hid, g FhEl Serstiasmer i A

THTS T ATTIHhdT Bt & | A 2 3
19. (a) S GRS I IINY D TGH hLdl & ? IYGRIUST I ATTAMRR Tee
ferfiae |
(b) (i) foreft mrey fRmy, e (i) Topelt X famgy =1 fom faaftor & ot I
H 3TEd TUIEET < e T 3@ I | 3

Epm
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17. In the electrolysis of water

(a)
(b)

(c)

Name the gases liberated at anode and cathode.

Why is it that the volume of gas collected on one electrode is two
times that on the other electrode ?

What would happen if dil. HySOy4 is not added to water ? 3

OR

A chemical compound X’ is used in the soap and glass industry. It is
prepared from brine.

(a)
(b)
(c)

18. (a)

(b)

(c)

(d)
(e)

(a)
(b)
(c)

19. (a)

(b)

.31/5/3

Write the chemical name, common name and chemical formula of X’.
Write the equation involved in its preparation.

What happens when it is treated with water containing Ca or Mg
salts ? 3

Create a food chain of the following organisms :
Insect, Hawk, Grass, Snake, Frog

Name the organism at the third trophic level of the created food
chain.

Which organism of this food chain will have the highest
concentration of non-biodegradable chemicals ?

Name the phenomenon associated with it.

If 10,000 joules of energy is available to frogs, how much energy
will be available to snakes in this food chain ? 3

OR
What is an ecosystem ?
List any two natural ecosystems.

We do not clean ponds or lakes, but an aquarium needs to be
cleaned regularly. Why ? 3

What provides nutrition to human sperms ? State the genetic
constitution of a sperm.

Mention the chromosome pair present in zygote which determines
the sex of (i) a female child, and (ii) a male child. 3

15 - PTO.



20.

21.

22,

23.

24.

(a) Y& IshAT § HIUHT o R 1 3g@ HINT |

(b)  Teli Sfidl i srden Siefta Shal s varg &t sgd it (gd) & 2 |
T HIT A9 |
(c) T o forgued @i guriv aret freferfiaa aer o6t qu i
Fifir zo i ? 0, %1 3ufearfa ?
. (i) (ii) + H,0 + 3ot
(G_W@qm) e — ?

(a) o TorHl o Aot & WY o1 fopdl o9 Het & I8 ¥ HeRloT SHUAT ST @
ql F1¥iet & aff qie dea o & 91 8id & 2

(b) F1 &dfd o Yigl T TRET 4 W 9 F2 Gafd & @Y F1 Jdfd &
el o fohe TR fir B1d 8 2 39 Y101 1 R A |

(c) Y J&IU[ & YR G THRTAT ST Hehed ST Teh foepy feAfam |

Frfafad gs Jor 4 98 Tuie & fow fomor smw difew fob wtedd &

TTIT, 3 AR feRToT BT T BNl B W 8

(a) Torelt I qUOT W 3ok &I 318 o FHIAL AT Hid! & |

(b)  TorHl e UV WX 36k YT BIRH & ToRd §Y YA HLd @ |

() el 3T YU % Ya W U1 o Y& A& & foieh W g8 ATIaH L
g |

1§ B — 2-5 m HIHE gl o =TH T ITAN HT 2 |

(a) 35 g gy w1 99 fafau |

(b) TE AN % TG & ToIC HH-H @ 1 I9A TorAT 1T B 2

(c) UMW 3N B < 3 THE HRUN hl A TAET |
(d) 3T g s Ik gieferd I |

YA

EI'TITUT_C&%I'Q:

(a) R % Gohd (Tei) & folu et T1 g1 ST & |

(b) AR T ATHIIA HTAT Jild BT 2 |

(c) aTEdlaeh FARA R STHTEH FIT o s THT T 3wl oo 2 e 3 |

(a) forell aRIaTE JATRR 9T9T (S[9) & FrechiT & o HIUT 39 W b Hidw
TR STE Fraehid & {@1ati o e @i |

(b) 3T U o offaR 3T ST & Frh & hI fesn 71a FE & Fm wr am
fafae ot 3@ fram =1 3g@ Hifse |

Epm
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20.

21.

22,

23.

24.

31/5/3 8 17 | PTO

(a)  In the process of respiration, state the function of alveoli.

(b)  Rate of breathing in aquatic organisms is much faster than that in
terrestrial organisms. Give reasons.

(c) Complete the following pathway showing the breakdown of glucose :

in cytopl ? Presence of O o
Glucose PR, ) - 2 (i) —— +H,0
(6-carbon (3-carbon  in mitochondria + energy
molecules) molecules
+ energy)

(a)  Why is the F1 progeny always of tall plants when a tall pea plant
is crossed with a short pea plant ?

(b) How is F2 progeny obtained by self-pollination of F1 progeny
different from F'1 progeny ? Give reason for this observation.

(¢) State a conclusion that can be drawn on the basis of this
observation.

Draw ray diagram in each of the following cases to show what happens

after reflection to the incident ray when

(a) it is parallel to the principal axis and falling on a convex mirror.

(b) it is falling on a concave mirror while passing through its principal
focus.

(c) it is coming oblique to the principal axis and falling on the pole of a
convex mirror.

A student uses spectacles of focal length — 2:5 m.
(a)  Name the defect of vision he is suffering from.
(b)  Which lens is used for the correction of this defect ?
(c) List two main causes of developing this defect.
(d) Compute the power of this lens.
OR
Give reasons :
(a)  Red colour is selected for danger signals.
(b)  The sky appears dark in space.
(c) The time difference between actual sunset and apparent sunset is
about 2 minutes.

(a) Draw the pattern of magnetic field lines due to a magnetic field
through and around a current carrying circular loop.

(b)  Name and state the rule to find out the direction of magnetic field
inside and around the loop.

[



25. (a)
(b)

(c)

26. (a)
(b)
(c)
(d)

(a)

(b)

27. (a)

(b)

.31/5/3

Qug T
FHTEET ! IRATST ST | ¢4 & gt Fvifad gaesE i |
“@rg AR X ggT B W 3TAfe e &k |y el saren <ar 7 17 39
o B 39 w1 TRy Heprerd ® 2
foptll Uoehigicl ol deedl shislifaticrs et § uiafda s st srfrfsma
T ™ KMnO,, <l T o1 3g@ <hifST |
A {8 wEd 8 ?
fod RIF o9 ¥ Hieet 1 ST F1 R SITar 7 2
Tea-Iehtul (I3etu) fohd had 8 2 38 Hew faRau |
HI o Tagq-oveeh uftssheor § 3T 8 ITet TS Td helis a aa
# ot I aret faega-erueey w1 9 fafew |

Jroqa

gAEI- ol FTEAT g STRHT AMRTeh UGHTEH TS (AlyO3) &

1 samE Hifvy |

(feam ™ 2 : Al 3R O o WA AT HAT: 13 3R 8 F)

I BT & 9 (Shaer Jequr fafgn)

() g foramefia g a9 @ie ot & stfufshan et 2 2

(i)  <pIs IwYH ATFaTse Aifsan wegiadss faoe 4 Afufsan =
37

(iii)  Torell T srffshameficrar 1 a1g =l 3= SAMfsRamsiicran i o1q
& 9 faer™ § STelt ST 8 2

(iv) Torell u1g & wraibe &t o @ srfirfsean gt 8 2

faanfea grent gro mifaes faftmt &1 swEm @ % @ wron A g

SATST |

o4 HIel o 994 aF H, 37vg famior @ f3rg) & <+ o <t erafy ae,

faftr 3t o B9 areft gfskaneti =&t 3fua s # forfaw |

AT
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25. (a)
(b)

(c)

26. (a)
(b)
(c)
(d)

(a)

(b)

27. (a)

(b)

.31/5/3

SECTION C

Define isomerism. Draw all possible isomers of butane.

“A compound X’ on combustion gives a yellow flame with lots of
smoke.” What inference would you draw from this statement ?

State the role of alkaline KMnO, in the reaction involving

conversion of an alcohol to corresponding carboxylic acid.

What is an amalgam ?
Why is solder used for making electrical fuse ?
What is galvanisation ? State its significance.

In the electrolytic refining of copper, name the anode and cathode
used and the electrolyte taken in the cell.

OR

Explain the formation of ionic compound, Al,O5 with electron-dot

structure :

(Given : Atomic no. of Al and O are 13 and 8 respectively)

What happens when (Report only observations)

(1) a reactive metal reacts with a dilute mineral acid ?

(i1))  an amphoteric oxide reacts with sodium hydroxide solution ?

(iii) a metal of low reactivity is dropped in the salt solution of a
metal of high reactivity ?

(iv) a metal carbonate is treated with acid ?

List two reasons of using contraceptive methods by married
couples.

Write in proper sequence the processes going on in the different
organs of the reproductive system of a human female starting from
the time of egg production to childbirth.

OR

19 - PTO.



(a)

(b)
(c)

fr= feu U g Sfia # 31eifies S <Y faensti 1 v i
(1) HES)

(i) wHREn

(iii) ~ Sfefts

(iv)  THTSTRTIET

(v) TSAHH

IRk TGEH o T ATl shl T TR |

gsqt 4 Ffe wmmer 3 8, At e = @l g wekar ?

28. R T

(a)
(b)
(c)
(d)
(e)
29. (a)
(b)
(c)
.31/5/3

sferg 1 gor § frer <t Ui fafat @1d gt 2

e | giggd feem o giar 2 |

STt sherefeRat | B ufte=ror worefa et o wfer ufw=ro o e
a1 2 |

fe 1 Sgem # St ot @l 1 wife iy s gorn o srfess 2t R |
Rsti § aTed 8Id & Safeh gHfAl § 6l 8id |

= feu e foRor et Wi g il

2F F 0 F 2F

20 cm

T 9Tl widfers i Yepfd, fedrfa TR |1ew Fma SifT |

T A 1 3TN Hieh 39 TR0 H e FHaifa i |
AAAT
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(a)

(b)
(c)

Identify the modes of asexual reproduction in each of the following

organisms :

) Hydra

(ii))  Planaria
(iii) Amoeba
(iv)  Spirogyra
(v)  Rhizopus

List three advantages of vegetative propagation.

Why can fertilisation not take place in flowers if pollination does

not occur ?

28. Give reasons :

(a)
(b)
(c)

(d)

(e)

29. (a)

(b)
(c)

.31/5/3

Ventricles have thicker muscular walls than atria.

Transport system in plants is slow.

Circulation of blood in aquatic vertebrates differs from that in

terrestrial vertebrates.

During the daytime, water and minerals travel faster through

xylem as compared to the night.

Veins have valves whereas arteries do not.

Complete the following ray diagram :

2F F 0 F 2F

20 cm

Find the nature, position and size of the image formed.

Use lens formula to determine the magnification in this case.

OR

21
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30.

.31/5/3

(a)

(b)
(c)

(a)

(b)

= feu e forror i@ =i g il

S Tl Sidfers 1 Yebfd, feufd 3Tk |1es 9 hifT |
TYUT T T ITAN hich 36 ThUl H Aadq fgifa il |

100 W, 220 V @ 10 W, 220 V 1A o &f oiFd 220 V i Mqfd &

uyd ® HAING 8 | 39 iUy ¥ varfEd o € uiehford i |

3 gfetigent X 3 Y, s afala seaer: 2 @ 3 8 @ &, 1 98t Urvd

H SR TR 4ot o FAa foRam T 8 | T WeRtUT | SATYfd oh! dieedl

5VE |

1) AP YR § YfqOeehl o EASH @l <4 & fore uftay smw
Eife |

i) SfeQuehl & Foft g § 3 Q@ & ufqUus & U W deedn
giehfcTa hIfT |
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30.

.31/5/3

(a)

(b)
(c)

(a)

(b)

e
B

Complete the following ray diagram :

Find the nature, position and size of the image formed.

Use mirror formula to determine the magnification in this case.

Two lamps rated 100 W, 220 V and 10 W, 220 V are connected in
parallel to 220 V supply. Calculate the total current through the
circuit.

Two resistors X and Y of resistances 2 Q and 3 Q respectively are

first joined in parallel and then in series. In each case the voltage

supplied is 5 V.

(1) Draw circuit diagrams to show the combination of resistors
in each case.

(ii)  Calculate the voltage across the 3 Q resistor in the series
combination of resistors.
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